
＝

①

＝

－
3
4

x＋
3
5 ＋

3
5

x－
５

6
①

＝

＝

4x＋5 ＋ 4x－10

＝

①

＝

1
3

x－
2
4 ＋

3
5

x＋
1
6

Ａコース Ｂコース Ｃコース Ｄコース

②

＝

＝

－2x－3 ＋ 5x＋5

③

＝

＝

10x－1 － －4x＋1

④

＝

＝

5x＋9 － 7x＋8

⑤

＝

＝

6x－2 － 5x－7

⑥

＝

＝

－3x＋7 － 6＋6x

⑦

＝

＝

－4x＋8 ＋ 7＋5x

⑧

＝

＝

6－9x － －10x＋8

＝

②

＝

4
x
＋

1
6 ＋ 5

x
－

1
4

＝

③

＝

3
5

x＋
1
3 －

1
6

x－
5
7

＝

④

＝

4
x
－

5
6 － 3

x
＋

1
2

①

＝

＝

6x－7 ＋ 4x＋8

②

＝

＝

2x＋9 － －7x＋5

③

＝

＝

－7x－8 ＋ 8x＋4

④

＝

＝

4x－7 － 3x＋5

⑤

＝

＝

－x－4 － 5x＋9

⑥

＝

＝

6＋2x － －x－3

⑦

＝

＝

6－x － 5x－7

⑧

＝

＝

6x－4 － 7＋9x

＝

②

＝

2x－
4
6 ＋

1
3

x＋3

＝

③

＝

－
2
3

x＋
3
5 －

3
5

x－
2
7

＝

④

＝

3x－
3
5 －

1
4

x＋2

8問 4問 8問 4問

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

解 説

中
１

ＮＡＭＥ

ＮＯ７ 文字式( )の計算－②

mistake文字式ＮＯ ７


